A528) FA A= F ST I A ser 7). B
= - - - o
A113] #A A sS4 7|3 -
dAzgRar (7 2023 49139 ~ 441794 )
=¥ 14 24 34 44 54 641 79 . 89
g |49 71g [9dl 28] A% {4324 ] A% [49] 25 | A% (4nf 2% ]| 75 Jyn] 2s | 75 |du]| 25| A% (93] 28] 7%
gom  Jesd|aravs[1zs [309[veasx]1136  [Feafavnasfines [axgluasex]iize [asdlessealingr [asaluwee=izie [gae[33z 1225 [aeelisees|i2s
FYES 0.6
100m |4 [avese 1253 [Ffd e [1277 [gaiz]annesizo0  [aed[ewsdz|inze [wzafasez[isa [exalienszisss [9esfusassfizss | ] i
FEHES 0.4 a
200m |4 [pumsa]2572  [Agafeeesnlosog  |aaz[aienzlanes [Rus|eazesiesss  [9esisussslaers | ] | [ ] | [ i
FTUHFS 1.9 ’
800m  |WFa muoigx |2:19.47 [Hchel|evevens 20065 [MaE|autiez[an153 [anu|svess|2ooes A lasnas]noas [ama|sernsianear [esaiaeeralzosos  ar1aliesazserd
olfl7] [N auaeke|1.50 | ed|swrez 153 |$a9|ewiex145  |AAE|#exes{14s |09 |aegaz|140  [I%@|wuesz 140 jgdal|eeans|ras [omaanses]135
ERrEl
R L e e e e e e e e S e e e e e e e
TYFL 0.9 -0.5 0.6 -0.0 0.1 -0.1 -0.3 ~0.2
ERIA|AFT | Adddz (14,38 Ured A (13.20 A | Ayt 12,05 A [aslyciala |11.16 HYP | FL2 |10.87 uHEE | paguz | 10.67 7S [auda3az 11053 stE 7 [dudase|0.73
4x100mR FHA32 (53.71 AguE (5471 A |55.44 447352 55,44 £z (5580
A8, 014 LAEYAAY [ATF oI FEFRL AL [HFS AN A AT S5 |NEF Ao 2SS EFE A IUE AR DRI R s -
7 aF e me _
=4 14 29 34 44 54 64 74 39l
28 j49|as] A= Jag| 25| 7= Jad] 25| 73 [9n 25 ] 213 [ym]as]| 215 [yn] 25 [ 213 |4u] 22 | 715 |49 23 | 7=
80m AAT | JATR2(11.65 4 jauen=|11.69 |°lf&ﬂ] w'&'ﬁ&\u.e{? A9 | deldx(12.03 L28E 2SR (12,04 e HHwRe (12,14 %H@wa 112 27 b2 e g |12.63
FYES 0.3
100m  [=ggjauena]1331 [9x8 e 1342 |eeuisans13.45 [wae|uvenz]iass Jaekdjswaasiars [uaenezs 1576 [gaeluszezianr [esaleees 1395
TUTE 0.1
200m |3 |2z (2743 |MAd jorewes (9747 [deleluenns(es19  [olen[mansva 2838 [usei[susea2sss  [umelaez |2ss3  [emeliesaafpose ] 1 p
FYES 1.4
800m ol (FHERE (2:24.98 |2 [Aedd=(2:20.65 |0l N80 |2:33.37 (AN [F2482(2:35.11  [SAL |38 (240,11 Rl A E |2:42.36 Hgle}j4lejx  |2:43.18 ﬂ?}ﬁ-f%%m 2:43.22
EO| 7] |4 [+ ) 1.50 AR A | AAd=|1.40 31_{%1% ez |1.40 P& | F5544|1.40 3 A& |y 140 A3 Q| anaaz]1.40 HEg | AuxF2]1.35 olcpe baraaa ] 1.30
&2
A7) oo [aensx 48] pAlasee]ar  oFoHeurezlass  [Rae[uwnerz[ise  [daelevenzliasr [panfessexiaas |A9a)wesssaliss (g8 ]naseeian
TEEE 0.3 0.1 0.6 11 0.7 -0.4 .4 0.3
EJER 7] A F gusmaivz |10.16 o)A F|HuFen (9.71 Zs5 3 |Aelx |9.38 Aeba | uEdE|{8.97 HH R |Ra%92 8,93 ol 51| |l gA (8,90 D& | SREY={8.70 ! raz 347
4x100mR g2 {5584 CR F9a82166,07 Qaez[56.79 g%z 57,18 AgBEn 57,36 w12 57,51 59% [58.35  |sawaz 5841
FaAol @AL 1 EA A AL [T MY H A el 2ot [REHE, w5 A ol b S8 [P EY A A, DD, 324 |[dgolols e olobgd |FRFE ghel 7 AU Ao & AR, FLERAR AR [BAD 2L E oG AANE

# WRiAI A4,

WT:A| A B} o], AR:o}A o}

A, AT:opAlotEle], KR:3HS4], KT @5 Eke], CR:ti &

A, CT:eh & ele}, DR: ¥

3, DT EE o



B 00 b AN RW N

- o

A|5238] A A= 5. 3150
A113] A Axx58

[
=1
ﬁl—

25377

FAE Sy (ofl " 20233 49134 ~ 4417¢)
=¥ 14 29 349 49 54 641 74 84
== A 22 | 7185 |49 23| 718 [d89] 25| 718 |Ad%) 25 | 75 (Ad9)] 25 | 715 |49 a5 | 75 (48] 25 ] 75 (48] &% | &
100m 494551096 |43 (1121 [g4z[aagz1is0  [sasfaresz]iien [AEe]ewz [1161  [2u2[A%3 1167 [dmoawess|ies  |duE(8aF |1183
THEE -0.7
200m _|Amalolaszlzzo  [ddz[ews [z2s0  [duy[ves [22es  [awlaes [0 [3z¢[ews [307  [weajseass[za00  [ose|aws [2400 | |
FUTE -0.2
400m  |24dE|d82EF|51.39 Hejg|5AF |51.39 Bl | #2455 |52.80 ejA % | &4F |54.09 AR o}l |dd53 54.80 Pk | &4HF (5535 A4 245 (55,74 YEF(2FF |55.83
800m A5 (92487 (2:01.46 [FFEZ|o]MF |2:01.57 [F03|guF [2:02.77 AN |HRF [2:04.01 |25 FIFE (2:08.33 [HYE(AMHF |2:08.58 |UaFE|dEF [2:08.80 (AAF|E8UET|2:1049
1500m {F5% |[d2087{4:15.61 @& |0lAF (41650 |od¥|AES [4:17.31 [HAEMAF |(4:17.88 B[ 9HF (41023 [JAYFE (AR08 (|4:20.18  [AAS[9TAF 42063 [N | FFT |422.77
3000m [AAL|oTasF(0:18.21 |99 [4EFE |9:19.42 |2¥E|2u08%(9:20.29 |AEFA|AFF (02846 |LEW(ARF |9:20.35 |o]eA|actedF 9:38.28 |FFY|MEF (94137 |FAV|MHFT 914271
110mH  [$3 |20744%]15.02 AN (FEF [15.30 APE|AeTF (1639 oy | o) E]l 53 |15.82 HeE|AE5F |15.95 s AEFF  |16.01 W 2)ed (45443 16.21 frA 2| EelE (1627
FUES 1.7
3000mW |AFS[MEF 134631 CR| A48 | F4F  14:38.23 A4 #4982 (16:01.03 |8 |H&F 116:56.90 |W=d | @aF 174554 [oid7][%3F |18:57.44 |A0A &% 19:00.63 [A4H|dHF |19:38.73
4x100mR AALE|45.15 385 |45,97 HEF 4699 AR 14771 FFF (4795 UkFT |48.31 Aetg  [48.54 MEE 48,59
AZY AT AEY 2248 45 AEE oI |Asd A RAY PN $Y $EE WPAE o)A RS wdA o)) ojA Y (o] 4Y) HAS AR ool 4AY FEH BAR| AL o4F YA AR
4x400mR gz 33282 218 |3:33.28 [awnas|3:33.28 #7453 [3:38.35 |v93 [3:44.13 ez 35131 lazz [3:53.40 [tEz |357.21
2 ol 4T BAY AF LY 0T AT AdF|F e ¥ox 472 AW e Weld FAE PAE[oNE YA )P el {048 olAF AR AL 2L FAY AL AP AAF AW Y F oA
FolH7 =AW 25F |1.75 AAL[FA%Z(1.75 AP RS F 170 Hag | 28F |1.65 HEZ[MA$EF(1.60 FAF (=3 |1.55 AE |==F 150 wAN|dEFE [1.50
Aol A7 | A] | As2F[3.20 1A (a5 (3.00 o) uiAs&F 12,60 AEF #4435 (2.00 HAA|=4F |2.00
FEag
uoHl |andjewsas|oze  |I5d|aaE 620 [44@|u4F 619 |@At|derss[e0z  [ose]eas 502 |oidg[endaz]ses  [a8a[s3% 565 |Rag[reaes]sss
FUES L5 1.6 2.0 1.2 3.2 #2715 0.5 2.3 Far) % 1.2
ARR7) [AUG| 0055|136 |2AF[I085]15.10  |REE[0asE 1280 [odd[dndas]1256 (o5 8[etF 1253 |Bas[reaas(1234  [ol@fresen]1200  [2Rs|awass]iz.00
FHES 1.6 -0.1 1.1 1.5 1.2 1.5 0.3 1.3
AR 2L FHE |10.65 ARE | A4S |17.36 £AY |93 | 16,95 ol g |auA 1% (14,19 FEP A5 14.06 o] 82 | Al d[13.82 I EAFE 1261 oA FI2EF (1187
b 7|44 | Foiaw s |56.84 A | FFF |51.23 FUA WEF  (47.97 g (Mo (46,33 FYY|A&ET |45.54 HENE | A %A4% 41,09 &) | MFF |35.62 A d9e4% | 35.54
AFEA7 |52 [aandz (61.86 HA |94x4%|55.65 AR ke F 5152 el |4 8453 |51.37 ol [aleke 43 | 50.95 AT |4 & NEF|44.45 @Y | Z=XAF|43.41 ol H i AEN5F | 43.33
547 |ZA=|EEF 2930 A EFE (2,771 DAL Q8T (2417 FolZ2|9Y¥F (2,109 ww|ggE (2,061 HAEoHAuF 2,042 kol (B2 (2,034 AN AT 1,795

PR W N g

¥ WRAAA, WT: A A EFo], AR:o}A e}Al, AT:etA o}Elo], KR:8bAl, KT:@-7Ele], CRiol 3 41, CT & elo], DRI A 1, DT:Hd glo]




RN Bk W N

—L

N WA MN W

A528] A A= F.asasA471493] 4 ses: ) B | e
- = - - - a2 .
| A113] A4 A5G A7) b 3] @5
oA HF IR (odld 2023 49139 ~ 4€174)
=4 19 291 34 49 541 5l 791 84

23 |am[2s] 7= a9 28] 2% [anlas ] 218 [u9] 24| 215 {49 22 | 7215 [499] 2% [ 218 [49) 24 | 715 [49) &5 | 718
100m  |MER[vadit 1240 [I0Q[39045[12.40  [WIE|8EF 1244 [w2A [R5 1246 [A90[0E [12.47  [Q2@ 445981256 |B4jeessns13.02
EHEE -0.4
200m  |ARu|aiE |0 [Madrassssse  [aA|aWs (2620 |9EU[aAF [2642  [4e|A4T |2658  |dusasdns[eess  |«ee[43F |7
THES 0.7
400m HA 4| Ao = [ 58.48 MeLi4E2 11:00.13 [RaA |a9953]1:0073 |78 2 #2455 (10191 [o]2&|25A4F|1:02.01  |HAFD|AEA4E]1:02.10 | SAH |28 1:03.68 A9 snaN4a%(1:04.19
800m FAE|EAE (201,05 [Uuhod|duda{pp4 51 (D8 | ddeinT|2:24.87 |olne|9WFE  (2:28.45 |UAA |2FAE 236,46 [ol@ohjwaAAAT |2:38.86 | FTHA|AaAF 2:39.20
1500m | Schel [gaeins (4:37.04 |AEslenasz{44000 |saa) [ Aednz]a55.03 |EA4|anens |4:50.60 |G |9dainz|5:01.09 |0l [uAAEF|5:02.03 |o)v)A [WAAEE 5:05.41 |¥e & |dHelF 512,87
3000m  |GoHe |4veaE 0:52.56 |EA4S Ao 10:34.71 |57 | 4005 |10:36.56 |5Ha1e) [ratciata 10:43.00 | & [449143 | 10:50.60 [o1 27 [ans3|10:62,04 [0l {MAN4TF [10:56.09 |4 |rdl4T |11:17.77
100mb  [elthel|d994% 14.70 A& & {AAZeE!14.86 3 o] | 94925 15,19 Felct|8AF 1617 AA & (2933 |16.24 o] & & (#3455 |16.89 o] 5l | eolnF 17,18
TEES 0.0
3000mW |HA 3 |28% ha1a7 crl @A g aadas 145063 cr| oA [swzes | 16:26.28 {o)ed|eaa42|17:05.08 [FH | A&AKF17:17.43 | AR | HAT [17:25.07 |&4F |4FdAF|17:25.14 ol |AFEF [17:33.56
4x100mR f#E&F 15002 F9%  |50.87 273 ]51,02 AFF [51.38 ANFLF|51.40 Haz [52.23

Adde) AR ol2g Pefe|R4e =i Qe oobg i WA wad AR [7xd 2ory YAS NEL|HEA DaE FRE FAKANA L JAS AuD
4%400mR |2uetae 411,21 433 |e1164 |45 |4:11.88 [ato1414:24.39 483 |429.94 |seswas [4:30.00 asteia3 |4:43.50 1

Ak 2AE B d ol |gAE 2oly ABE o)t [z4ul o2t HUFE AR Q|28 H Aohd o)A e (R BRD FAR FAT|RAD FAE Aol FRIA |2 0E Ak oA Hx4
Folm7] [Res|nAF |1.60 #Hal& ol aE | 1.50 AE Y [ WFE |1.45 ol  |yddaE|1.40 A AAF 135
Aolzol 7 |- - - - - -
el 7] |o)gol|duelanz 5,24 A7k (BLF |5.16 HdA | HEE  [5.16 o] 8 9] | =4einF |5.10 Althed (s 43 |5.07 WA | edAs 14,82 Eohg|ESE 471 #AZ|2FF [1.65
FEEL 1.4 2.1 Hd717% 1.2 1.3 1.7 1.6 0.3 2.5 g
AR |olgoraeanz[1L07  |22A]88% (1106 [Maafruass]iLos  [axe/287 (1035 (R84 |reqnsliozs  dus Feaas[10.00  |ola)avass (1001 [daiw{awasz[9.81
BgEE ~0.5 -1.0 -0.2 -1.3 -1.1 0.6 L3 -0.2
TR 7] fol | e 47 |15.22 DR {418 (2445 |12.87 ol o [FuldaE | 12,18 Ak |9 %3 12,10 o]Z & |+ aa4% 10.05 XA |redol x| 8.00 upgl | 8405 |7.96 Houl |woeiare|7.88
g [Aud a9z 34.79 Ane|HFEFE 3105 #oldl [n4aatz | 29.20 o] o g|arens (29,15 Ak |9 55 [28.58 uhy] e 2 gkel 2| 28,28 uheg] | a4 (27,77 oo |AeH&F|27.37
FEA 7] foldlgdals |43.73 Hhal| 9 | FAoi A | 30.24 A A Aol A7 | 37.80 8 A | el AR | 33.02 ol [M24155 (31,80 AF3 |A8F  |30.18 el @] = @43 29,50 Aotel o3| 28.39
5377 |WMEAIEE (2,510 QA&7 H945(2,318 49 AFF (2,268 FA7|2A4% (2,119 ot | AFEF 1,673 FA"|HF 1,567

% WRAI 1A, WTiAlABro], AR:o}A ek, AT obA obebo], KR:gH24l, KT 8= Ele], CRivk 3|41, CT:chal ghe], DR:F-E & 31, DT:5-dEte]




_L-—\-I\J

N

N

N w

A 5238 F7

Ao .41

S S HAE 7]

5 9 2 A
3 3 2] o = 25 31 8- AL A 3 Ll Z)/ﬁﬁ%?%
A113] FA A2 TG HE 7| 3]
(el H 2023d 4€13Y ~ 4917Y)

g% 15hd s

=4 19 2% 34 44 5% 69 74 34
22 |uw| as | 78 (49 22| 718 (99l 28] 715 [su] 22 72 [Gnlas] 2= [au] 25| A= [43] 2¢ | A= 48] 25 | 2=
100m  fold% [¥uua# {1158 [H28[AAGF[1184  [1M9[2RF [1186  [uya[ewsss|1206  [J42[59F 1224 |=uz[38% 1243 [4A9|92% [1244  [eAE[d4E [1271
FHES -0.8
400m gz |¥mF  |54.96 FH 5 |d¢edT(56.92 AAE|dets |57.62 A3l (Aete 45 |58.40 WA | AHEF 159.07 4AA|d4F |59.75 SYF | HEF [1:00.05 [HRAF|evemana2|1:00,60
1500m  [H&E|F4F (43546 |FEA|[AAT (43621 [EE[0IFTF (44170 [QAR(AFFT (44571 AW |L¥EST 454.29 [R5 |MRE (455053 [AEH |$49FFI5:00.64 [FSA|HEFE |5:00.65
27 |AE |¥xF [5.87 W | FFF  |6.61 Qe |EF2F 1548 FEE (WFE |5.47 olAE | FHFT |5.36 AEA | FEE |5.20 RYFE [MAFEF|5.07 AR 2| $LgUF 5,06
e 0.1 L8 -0.2 -0.4 0.3 1.3 1.0 1.9
EeAs |44 5 207 (1480 [asa|rensz|1ess [raslews (n |adzlswz [izez [wwalravas|iner uoeleas 091 |[$a%|weE 08z |dA%|$3% 1045

o F 18hd R

9 14] 2% 34 4% 59 6% 74 84
3% |49 a2] A8 |49 as | 78 Janl 25| 715 [49] 25| 7% [49] 2% | 15 (a9] 25 | A8 |49 a5 | 215 [an] as |
om  |@7telsws 1285 |AAR|Aazes)1268  [a4deaz 1281 [zomw(azz 1323 [ane 3994%13.30  [AAY 43131366 [olaA|wanas|iaes  [9A4]a4z(1578
FYES -0.9
400m YA | HFT |1:00.69 [AF2|4H2F (10115 |HEmd|waa83|1:01.45 [Aubed [A9e73(1:02.62 ol Rl {uda83(1:03.25 |o)84 [42a4=5|1:07.11 |dRA] |»acunas [1:07.556
1600m [ #8988 |5:07.20  |Rb [gedag (511,71 [olohe |Quld (51833 |AF4d|d49423|5:21.68 |FridisstdaE |5:24.86 [Deit|esenans |5:34,27 ol MQ Aeelas |5:36,73  |BX&H4E5E |5:37.05
gE)Hy] |PeElR | AdF [4.40 AN (AuAE |4.42 uhal 4| adeee|4.28 o &A BTF |4.27 a8 [AFF (418 PED | MLIAF (4,06 o] Al ¢ juseusae 14,05 AED| U3 (3,04
A 1.2 L1 -0.5 0.7 0.7 0.8 ~0.6 -0.2
raRAA|d e [seeds1247_ [400fsaans11.07 [dualieaasloss  [emalasz s4s  [M4a]mez Joa7  |eAs|wwE 902 |9AR[99a443]596  |A€L|WEE |80z




A528 A W% FAFADGAAANA A ey ) B
A113] FA AFZFFuFA7A 7|0 A

SAnF Ry (dld 2023 49€13Y ~ 4€174)

[he]

=4 14 2% 34 4% 54 64 74 89
g5 (4u| 22| 7% (99 a5 ] 215 [yl 2] 12 tau] 2] 713 [99] 22 ] 25 {4922 A% [wa] 2] 715 |aa] 24 ] 28
W0om_(AA&(3wasafi072  [a[gAn (1001 [olAgfaausafions [pg@ferasailos [F8[3En 1104 [Aasjendsaliios  [4as{aadeslinan | -
THEE -0.3 )
200m _[dglavaealan  [dd[arasalzn 9@ Jeesselzar [raefsresslese Jzaeftan pasc [weefemsafaas [asgleslee ] ]
T4 -0.4

400m w7 & | A A |47.51 AAR el PANEa 49,48 U F | A7 A543 (10,48 $ A | A | 50.30 18] A |22 Al | 50,88

400m AHE TG |2:01.25  [REZ RS |2:01.52  |FAR | LYm (210184 IR |WENEL|2:02.10  (FAT|289En(2:05.44 | FSA(aBER (20637 |MR0[Agen [ 2:06.44 |l HE 489w |2:10.00

1500m [ALY|¥lEx |3568.03 o) F&wdass (4:00.73  |EEE|AANER ([4:04,83 |l [Aoaga 06,71 |DAE[28veD [1:07.67 | |easn 0786 (AL |ED [4:07.80 [FAAP|WE [1:08.19

5000m  |RAAE[E2 |15:10.62 (249 dF2 [15:11.06 [FHe8 | WED [15:14.31 |ol4-& | #0460 [16:21.096 SRS [2aen(15:22.28 (AR |FAT 15:20.22 [ZeRl|SAn  |15:20.22 |7 | S04 [15:30,20

110mH  |=he] 2 A w40 15,07 olggiiAga |15.7¢ A& H] {aanannnl 15,02 o] 718 [anzimaaz| | (,20 SHE & Al %t | 16,48

FHES -1.4

400mH  |ARA|aRrasn 5309 A7) E | dFaen (55,18 o|FHAAT (56,12 78| 89n |57.57 BAE |40 |57.73 LA | EUAAR|58.08 o] ul |aARN4n | 1:03,83
3000msClolRak AT |960.27 |&A[FHa (95734 |AAE|MgAs2]10:01.74 |AFA|weenn|10:16.55 |G| aaasa | 10:22.58 |7 |Redaan|10:22.40 o149 |Anaaa|10:22.08 [FF 2 [As0E 2 10:31.56

=
S000mW |AEFAED (234751 MY |FF0 (25:08.06 |97 [wauss|25:46.84 |4

O kA RNDW N = W

— N

no

S Aasn | 25:47.08 [ REF|AAA%R | 276,74
4x100mR A7l A%a (42,14 a4n 42,91 B |12.86 At 43,17 g |43.45 HAT |13.78 bt 43,04 FelAi|44.20
SRE o)A E WAL 5184 R DY AT DA (FHT AGS 79T o154 A2 T eI E B9 [£8 20y TAH RAT @& o124 A7 Ana |39 A5 wnd A4 |dD A4 Y 49 olelw
4x400mR o s:19.58 | Jasasafsezal |59 83 [3:92.,53 [Asm [3esaz | [reswean|sos80 | I N
TUF A71E A5 A (422 22 o)E AT [old el A4Y 1D |A9Y o|FY HEY S |WEH dF &9 g4 .
Fo1H 7] [FAf | eraz2a92)2.15 AE (EnAsn (1,06 o] Ayl |35 |1.93 HpE 9] (954045 | 1.90 F34 | #0041 |1.85 oJAg (et |1.85 AR |wdaaa i85 |SHEE WENAE| 180
Fuzasiz [ e A A 4,15 W] 2§ [ a4 3 [4.10 o E2|HAHWI [4.60 '
A7 [ 8 |odags 7,21 2R A B85 7,07 A 98453 (6.75 g 5] | R |6.67 PR (A5 |6.66 ol @yl e]ul |6.62 TS | HEaER (6.50 MRS | AN SR |GH)
F43S 1.2 1.2 1.2 ' o | ew 17 | e | 22 swAs
AR |Fem|aansn 1492 ey |anasn 1488 |FRs|aaasa|ia10 [ega|erasa 13.05 A0 |90 a8 13.87  PEVVE(UAASR|13.86 | BAMFE (A 1348 1 l N
RS -0.1 1.0 1.6 -0.9 -0.9 ~1.9 ~0.1

ZHdA7| [ mwna 16,90 |2d2|Aeasn]16.71 oA Anasn|15.84  |delA|adasa]16.03  |Qda|menan]14.08  |dsa]awasa 14,15 |@e0|anasa 1327 |#Es | aeaas|1a.00
)y ekl A (9 (50,77 [o]E8 [aeagn 1845 |Adx|dazan|is i [Fea|aazan|iree [Baaressa|iaais [Aoa|aeaesa|ar AeH[anaaad061 |2 eivemana]l0.p0

ol 7] A o= s 61,82 W& A4 m (58,04 A7 |44 5 |53.28 ]} Z g} |#uzzanaz|5] (7 FEE o029 1| 50.52 o] gl |Zvtalg e 49,02 7 | kAl F3 | 46,50 Ak | Avha | 38,36

BW=0MNn M

k|
FEA 7 [AEa|eda4n(68.51 A9l | A5 |G0.66 o]z | a4 (58,30 &) wd A |57,16 e [#uan (56,03 710l [2wAaat | 64641 A |[A93: |62.14 AT | ARALI (40,15
1083 7] |ddW |a7a43 (6,608 F CR|F 3] e |ndalda 6,404 |olE2|Adqn 5,733 [oldd #7482 |5,6028 |AEat|diagn(5,1408 |SAZ|[A10sn|4,3084 (dAQ(ddx [2.664F

% WR:HI A4, WT:AAEto], AR:0}Alo}4l, AT:obalo}ele], KR8 541, KT: @2 ebo], CR:l 841, CTicl8|eto], DR384 1, DT:4 1 E}o)




- S os o oW

N =1 NN EWw

N = N

Apzs| TA UH TATHRILBANAR ey 3,
A113] £4 AZZ S W54 73] AN

o} a8 (¥ 20234 4€13Y ~ 4€174)

= 19] 24 39 4 5% 641 74 84
o Ag| 2% | 7% |49 2% | 715 |[A4d]| 22| 7153 [Ad]| 25 | 7215 (49 285 | 715 (49| &% | 718 | d4d] a4 | 215 |49] &5 | A5
100m  |[$5% [ aensn]1249  [faA[dAa 1252 [Hedisax |1258  [asd|wdm [1260  [dd9anasn1261  [Ad|waasa|1263  |F5d[4ea53 1270 [#9e U042 1205
FUHESL -0.7
200m  |#%e awaszlzsse  |ooqaeasaesss  [#ed]80n (2590  [ol5gfesasales0s  [wdemAx 2600 lateleun |sese || | | | |
FUES 0.1
400m olelF 4 |58.18 A M [AgMan 58,23 & |AdA%2158,62 ks A4l |58.90 el5)= | gelm |59.22 &4 |3 e04n|50.28 1y |z |59.67 EF B |Eaen 1:01.24
800m  |9re@|szeiazm|2:16.21 [oif4[8UX [2:20.02 |BRA |[teenaaea|2:0159 el | Meadn|2:28.72 |FTHe|AdAsw|2:30.85 |H&S|5UA52(2:35.18 014 W 12T 2:38.61
1500m  ACHR [4e%a [4:46,77 {ol#R |[4sanz|4:50.18 [M49 [vevnana 456,00 [0l W |FuAsR 45666 |SWM|AFA%R|5:01.66 AR [esesainz 5:0241  [ol4 ) |AuA5R 5:06.42  |%AE favenan |5:09.14
5000m  [obs)4 [esusans |18:33.94 | M40 javevann | 18:35.58 |ol 28 |ana40|10:06.45 |Ea9iaaesn|19:27.72 |49 | 220 [10:35.42 [bad [nuswa [10:41.45 |Mohs] | FED |19:46,30 |HA G [uaA4219:48.85

100mH  |o]&=] |82 ]15.26 AHE (NEAER|16.47 ol 7Y |[A8A8=|15.84 A gd&n |16.58 o) #§l =197z | 18.68

TEES 0.2

400mH  |REA |ded%n (10473 |0l &) | |1:05.43 (i [saeennea |1:05.61 |HAY{RYd4=1:00.08  |hAE |20 1:10.26  [EAY |05 0 (117,34
3000mSC|Zeie [MeMan|11:36.20 | o) e sa|11:46,47 jol AY A&ddn|12:02.98 A Q2482 |12:20.68 |AAXG [uaag=|12:32.77 [DFH [f2d4=|13:31.23
5000mW |7 els|Adasn |24:48,16 R3] |82 |25:20,30 |A-¢- #4040 | 26:30.63 {945 (AdA5D |26:57.38 [H49 | FHUR [30:09.72
4x100mR A |47.50 A%AF|48.02 AT |50.45 wlsanann |51 52 24w |5501
ol&dl ot 2&M £E Wiy AR R F8 Aol 19 WA E Bads jolder AT AT AR [1A4F 24 A2 G494
4x400mR vkt 3 [4:01.52 EEENE fueuann | 4:36.57 ! | | | ! | | | : |
AT HAA RN S5 SR Bl Aote AL (UG FAE Aeg] el
EOH7) (2L #5482 1.60 AL | uFA%2] 155 L&A &A% 150
Aol 7| o) (w4043 3.00 &R 4 | A4 822,40 ol&7li4lMam (2,40
delgr| |k [Rdasa]5.75 2438 |q0442(5,58 Aol A R0&2]5.40 uh | 5RA 43 |5.31 &&7 | A8 |5.25 Aeh}|B21:42 |5.09 gL |82 [5.05 ol A |Basedn|5.04
FUEE 1.2 1.4 1.3 1.4 18 -0.3 0.9 1.1
Az [gyoifananz1207  [guslawaszizos  [auglasasaliia [eaafaassinis [dae[3dn 1007 sFeeaasafiozs  [olaaleesan]1058  |olAok[ueswans|10.53
TUTS 1.8 1.8 EAESEES 1.3 0.9 1.7 2.0 1.8
ERA |42 | T |14.66 ol @ g% |13.28 Hl4e | Fen [12.21 2R {paHl%2|9,89 g4ul | 240 52| 9.10
HAE 7| o] A5 |48.92 YA ol B |47.44 FR (A8 R (45,42 H3 M MEN53|44.24 Pl |2 gl 5| 38.93 ol Che #2585 38,25 Aol #3447 (33,50 ok 4 [uTAED (31,50
#lnleix)7)| 2 e} 5] |olal 79 2 |56.20 CR |ole}ed [A4ha14n|40.75 vhEla (ga4n(48.08 AFAlMgA52 47,13
FAA7] |dEA | Banse|47,78 AR |42 |47.40 ofA] |l alolatn | 46,64 Aw R (A8 50 45,91 25 A4 52]45,65 SoE | #FA%T|45.28 AL [dadan 43,64 YAA |A7la43|42.36
TE5747] |Hgo}|suemasea 3 6554 o] A | 4FME2)3,444% |7 |[BuA52 3,202 | ZAE|ReA40|2,9883 (&9 | AEE 11,8613

s WRAIAA, WT:AAEke], AR:obA o}, AT opAlobEbo], KR: 824, KT: @ eo], CRY84], CT:fi 3 Bo}, DR M A 3, DT o]




—r

RN W B~ N AN

—

I'\)l\)U‘I-thO-bI\D

A|523] A A= F.A5Tu LAY |dE 3 g M )
- _ _ oA L
A118 A AZ2 540547703 7
(A 20234 49139 ~ 4€179) |
Wi 1Ehd R
¥ 19 2% 39 49 5% 69 74 84
gz jad| as| 725 [am] as]| 28 Jan] 25| o1z |an] as | A8 [ae] 2| 718 |ag] 22| 713 Jau] 25| 718 [an] 25| 78
100m  |B9e|sdna(1099  [dRE|9A94a(11.16  [Rewlarase 1120 [F@el|edm (1122 [Hduiaedasa]1126  [dRA|2wasn(1120  [sez|ewaseiiles [deln asmaxille
TEEH 0.3
400m  [B4-$iewa50]49.32 ole 2B AN [50.38  [¢bARl | AAR |50.62 Ao 47082 51,14 HHE | eamran (52,04 g (AEam (5346 #HAE | A4 ]54.83
800m  |[L.FH|2A4R|1:58.82 |WEA A48 |2:00.34  [AUA{F8082,2:01.45 |o}5E AR5 |2:01,63 |DFEY |[ANYED|2:04,55 |HY  resxaan=|2:06.24 [0 B |AeMsz|2:15.13
5000m  [AF¢|(MED |16:28.10 [224 |924582(16:34.32 |A A |a74s2|16:40.35 |27 |DFn |16:43.44 VAHE|ESAD |16:53.46 [ola M #eMen|16:54.62 |FEH |[FUYD |16:57.13 jHST | 2598r|17:05.08
110mH  |3AW (491 |20.55
FYES -0.9 715747
FolH7) [RFE|3F4432(1.90 A7 |40 1.85 o de|Edn |1.85 G- inzausan|1.75 olgl A (i &m|1.75 &g | $galan|1.70
el {fAE 4041|680 A4 |avessnnn |G,77 o] 4 [wamrdn | 6,47 A2 [MeA4n6.38 AEY|sRA426.24 GZE (4R A52)6.22 FB4d #4452 |6.18 ZRY | BdA%316.04
FYTL -0.5 -0.2 -0.2 -0.2 -0.0 -0.4 -0.1 -0.7
zadAs|4ae 2en 1852 [eds|=vasz]izee  [duslaasvafioss  [zasfevsez|iosr | | |
o 13hdR
=4 149 29 39 44 5% 651 7H 84
22 |4yl as | A5 [dul as | 725 (49| 4% | A5 |49 4;4 | 718 (2] a4 ] 215 (49 a2 | 218 (48] 24| 215 [y9] 22| 213
100m [oltel|awaan(1235  |AAd[sewan|12.54  {dele|dAz [1257  [FeR|essas|13.16 ol |zuaas|118 |[#4R[E8n [1331  [Bche[mewsa|13.38 [mdg[dea [13.50
FHES 0.5
400m olAlf | TR |58.69 frod e lugdan(1:01,30 |ol8lq) fuEen1:02.42 oA [4F5%n |1:04,78
B00m  |$#A|dFasn|2:24.16 |Agetawnsa|2:28.46 |H40 | sdAsn|2:32.51 |9 (#3422 (2:33,63 |PAD 28082 |2:35,88 | [euvena|2:36.88  {AM Q| A0 A |2:40.12
5000m ol A9 35142 |18:37.35 |9 [9499aaa [18:54.43 |E&EA | #7452 |18:58.63 Db (M43 |19:19.07 §5fo 208z |20:02.82 [$3ls 42042 (20:10.27 |48 |S$2eix2|21:10.67 [0 13440 |22:23.77
100mH  {9}=1<d (#3442 |16.57 $5o |AdA5m16.53 Ar}ed (rmmanen | 16.83 LuFH{aYoizn{18.43 S8R (1849 Hegs) | HAa |18.50
FEES -0.3
FolH7 [ghadd |#a480|1.60 Sl | A4 1,55
Hagr] |WAaAitEa (4.98 o] o} |anemunna |4.88 ZFob| A& 014,76 AnA | Fdn |4.73 s (e |4.67 ojed Bl |4.65 F7te a4z (4,31 Y71 |rusariz 4,23
FUFS -0.5 1.4 0.0 -0.0 0.4 0.6 -0.0 -0.5
zguxsl|eas|aensalizig Jz4ajaansnjssz  |awefessenoss ] | | !






